CHEMISTRY

BOOKS - MTG CHEMISTRY (BENGALI
ENGLISH)

QUESTION PAPER 2011

1. The normality of 30 volume H20> is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jt3Hki9X6daC

A.2.678N

B.5. 336V

C.8. 034N

D. 6. 685NV

Answer:

o Watch Video Solution

2. Reaction of formaldehyde and ammonia

gives .


https://dl.doubtnut.com/l/_jt3Hki9X6daC
https://dl.doubtnut.com/l/_oETuuadFGjR6

A. Hexamethylene teramine

B. Bakelite

C. Urea

D. Triethylene Tetramine

Answer:

o Watch Video Solution

1
3. A plot of In k against T (absoissa) is

expected to be a straight line with intercept

on ordinate axis equal to


https://dl.doubtnut.com/l/_oETuuadFGjR6
https://dl.doubtnut.com/l/_1kjkqTqPj6vl

AS°
A.
2.303R
AS°

B.

AS°
C. —

D.R x AS°

Answer:

o Watch Video Solution

4. Which of the following represents the

compositions of Carnallite mineral ?


https://dl.doubtnut.com/l/_1kjkqTqPj6vl
https://dl.doubtnut.com/l/_AGRHgY8HiKkA

A. KzO, Al203, 65’&02

B. KNO;3

C. K2504, MgSO4, MgCl26H20

Answer:

o Watch Video Solution

5. The solubility of Caz(POy), in water is y

moles/ litre. Its solubility product is


https://dl.doubtnut.com/l/_AGRHgY8HiKkA
https://dl.doubtnut.com/l/_3EeyOgT0KSRE

A. 6y*
B. 36y*
C. 64y°

D. 108y°

Answer:

° Watch Video Solution

6. Paracetamol is

A. Methyl salicylate


https://dl.doubtnut.com/l/_3EeyOgT0KSRE
https://dl.doubtnut.com/l/_PEKkdueWnnDi

B. Phenyl salieylate

C. N-acetyl p-amino phenol

D. Acetyl salicylic acid

Answer:

o Watch Video Solution

7. Anhydrous ferric chloride is prepared by

A. Dissolving Fe(OH), in condentrated

HCI


https://dl.doubtnut.com/l/_PEKkdueWnnDi
https://dl.doubtnut.com/l/_UsxNxGxPbp8q

B. Dissolving Fe(OH), in dilute HCI
C. Passing dry HCl over heated iron scrap.
D. Passing dry Cl, gas over heated iron

scrap.

Answer:

o Watch Video Solution

8. Which one of the following is s- butyl

phenylvinyl methane ?


https://dl.doubtnut.com/l/_UsxNxGxPbp8q
https://dl.doubtnut.com/l/_Q0qOKYwGFCeB

N e
, XX

Answer:

o Watch Video Solution

o. Hybridization of

Cz and Cg of H3C—CH:C:CH—CH3


https://dl.doubtnut.com/l/_Q0qOKYwGFCeB
https://dl.doubtnut.com/l/_zIzH7knH4p8Y

are

A. Sp, Sp°
B. Sp?, Sp
C. Sp?, Sp?

D. Sp, Sp

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zIzH7knH4p8Y

10. Which of the following compounds is not

formed in iodoform reactions of acetone?

A. CH,COCH,I

B.ICH,COCH,I

C. CH;COCHI,

D. CH,COCT,

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_IUdFZo1Og8dN
https://dl.doubtnut.com/l/_050Xpin17sgy

11. The energy of an electron in first Bohr orbit
of H-atom is —13.6eV. The possible energy

value of electron in the excited state of Li?+

A. —122.4eV

B. 30.6eV

C. —30.6eV

D. 13.6eV

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_050Xpin17sgy

12. The amount of heat released when 20 ml
0.5 M NaOH is mixed with 100 ml 01 M HCl is x
k] .The heat of neutralization is

A. —100xkJ / mol

B. —50zkJ / mol

C. +100zkJ /mol

D. 4+ 50xkJ /mol

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_050Xpin17sgy
https://dl.doubtnut.com/l/_kyfBRMOnoUOM

13. Which one of the following has the lowest
ionization energy?

A_1322322p6

B. 15%2522p°3s!

C.1s22322p5

D. 15%2s%2p°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kyfBRMOnoUOM
https://dl.doubtnut.com/l/_XF1xcTWKhjNU

14. The ozone layer forms naturally by

A. the interaction of CFC with oxygen.

B.the interaction of UV , radiation with

oxygen.

C.the interaction of TR radiation with

oxygen.

D.the interaction of oxygen and water

Vapour.

Answer:



https://dl.doubtnut.com/l/_oAEDDo1UBuMm

\ o Watch Video Solution

15. 2 gm of metal carbonate is neutralized by
100 ml of 0.1 (N) HCl . The equivalent weight of
metal carbonate is

A. 50

B. 100

C. 150

D. 200

Answer:


https://dl.doubtnut.com/l/_oAEDDo1UBuMm
https://dl.doubtnut.com/l/_aKPP3XJaMBG9

° Watch Video Solution

16. Which one of the following is not true at

room temperatue and pressure

A. P4010 is a white solid

B. SO, is a colourless gas

C. 8Os is a colourless gas

D. NO, is a brown gas

Answer:



https://dl.doubtnut.com/l/_aKPP3XJaMBG9
https://dl.doubtnut.com/l/_J1tdlxiLXJfC

17. An electric current is passed through an
aquous solution of a mixture of alanine
(isoelectric points 6.0 ) glutamic acid (3.2) and
arginine (10.7) buffered at pH6. What is the

fate of the three acids?

A. Glutamic acid migrates to anode at pH.6

Arginine is present as a cation and

migrates to the cathode. Alanine in a


https://dl.doubtnut.com/l/_J1tdlxiLXJfC
https://dl.doubtnut.com/l/_ENYN8wjuuy5m

dipolar ion  remains  uniformally

distributed in solutions.

B. Glutamic acid migrates to cathode and

others remains uniformaly distributed in

solution.

C.All three uniformally distributed in

solution

D. All three move to cathode.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ENYN8wjuuy5m

18. The representation of the ground state
electronic configuration of He by box- diagram

as

Is wrong because it violates

A. Hysenberg's Uncertainty Principle


https://dl.doubtnut.com/l/_ENYN8wjuuy5m
https://dl.doubtnut.com/l/_02RNxeKc7Bik

B. Bohr's Quantization Theory of Angular

Momenta

C. Pauli Exclusion Principle

D. Hund's Rule

Answer:

o Watch Video Solution

19. The electronic transitions from n=2 to n =1
will produce shortest wavelength in (where n=

principle quantum state)


https://dl.doubtnut.com/l/_02RNxeKc7Bik
https://dl.doubtnut.com/l/_IW40HhaxJ6qg

A Lit?

B.He™

C.H

D.H™

Answer:

° Watch Video Solution

20. In the following electron dot structure ,

calculate the formal charge from left to right


https://dl.doubtnut.com/l/_IW40HhaxJ6qg
https://dl.doubtnut.com/l/_XHsfKROt7XOe

nitrogen atom.

N=N=N
A—-1,1, +1
B.—1, +1, —1
c+1, —1, —1

D.+1, — 1, +1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XHsfKROt7XOe

21. If the molecular wt.of
NCL25203 and .[2 areM1 and Mg
respectively , then what will be the equivalent
wt of Nay§5,03 and I, the following
reactions?

A. My, M,

B. My, M, /2

C.2M,, M,

D. My, 2M,

Answer:


https://dl.doubtnut.com/l/_cAVkabd2JOr6

° Watch Video Solution

22. A radioactive atom _ (Y)* M emits two
particles and one [ particle successively. The

number of neutrons in the nucleus of the

product will be

AX—-4-Y
BX—-Y -5
CX-Y -3

DX—-Y —6


https://dl.doubtnut.com/l/_cAVkabd2JOr6
https://dl.doubtnut.com/l/_xCE3QCxkh6Uh

Answer:

o Watch Video Solution

23. An element belongs to Group 15 and third
period of the periodic table. lts electronic
configuration will be

A,1s22s22p3

B.ls22s22p4

C. 15%2522p%3523p°

D. 15%25%2p°35%3p?


https://dl.doubtnut.com/l/_xCE3QCxkh6Uh
https://dl.doubtnut.com/l/_MGvNzidIpZqI

Answer:

o Watch Video Solution

24. Which one of the

paramagnetic?

A. N,

B.NO

C.CO

D. Oj

following

IS


https://dl.doubtnut.com/l/_MGvNzidIpZqI
https://dl.doubtnut.com/l/_9Ef4dZbIZf2h

Answer:

o Watch Video Solution

25. Platinum, Palladium and Iridium are called

noble metals because.

A. Alfred Nobel discovered them.

B. They are shining lustrous and pleasing

to look at.

C. they are found in native state


https://dl.doubtnut.com/l/_9Ef4dZbIZf2h
https://dl.doubtnut.com/l/_jebzn4FhVGim

D.They are inert towards many common

reagents.

Answer:

° Watch Video Solution

26. Which one is not a constituent of nucleic

acid?

A. Uracil

B. Guamdine


https://dl.doubtnut.com/l/_jebzn4FhVGim
https://dl.doubtnut.com/l/_OMGoMQepI9DS

C. Phosphoric acid

D. Ribose sugar

Answer:

o Watch Video Solution

27. The sp°d® hybridization of central atom of

a molecule would lead to

A. Square planar geometry

B. Tetrahedral geometry


https://dl.doubtnut.com/l/_OMGoMQepI9DS
https://dl.doubtnut.com/l/_jRXQHxePJrDC

C. Trigonal bipyramidal geometry

D. Octahedral geometry

Answer:

o Watch Video Solution

28. In aqueous solutions glucose remains as

A. Only in open chain form

B. Only in pyranoze form

C. Only in furanose forms


https://dl.doubtnut.com/l/_jRXQHxePJrDC
https://dl.doubtnut.com/l/_Bdxngr1Anns5

D. In all three forms in equilibrium

Answer:

° Watch Video Solution

29. Which of the following is used to prepare
Cl, gas at room temperature from

concentrated HCI?

A. MTLOZ

B.H,S


https://dl.doubtnut.com/l/_Bdxngr1Anns5
https://dl.doubtnut.com/l/_KeNoUdKOC2I0

C. KM’TLO4

D. CT‘203

Answer:

° Watch Video Solution

30. NO, is not obtained on heating

A. AgNOg
B. KNO;

C. CU(N03)2


https://dl.doubtnut.com/l/_KeNoUdKOC2I0
https://dl.doubtnut.com/l/_lI2KAxSMUUes

D. Pb(NO3),

Answer:

° Watch Video Solution

31. Two aromatic compounds having formula
CrHgO which are easily identifiable by FeCls
solution test (violet colouration )are

A. 0o — cresol benzyl alcohol

B. m -cresol and p cresol


https://dl.doubtnut.com/l/_lI2KAxSMUUes
https://dl.doubtnut.com/l/_NburAZeEEO2F

C. o — cresol and p cresol

D. methyl phenyl ether and benzyl alcohol

Answer:

o Watch Video Solution

32. The ease of dehydrohalogenation of alkyl

halide with alcoholic KOH is

A.3° <2° < 1°

B.3° < 2° «1°


https://dl.doubtnut.com/l/_NburAZeEEO2F
https://dl.doubtnut.com/l/_34SaNE0GbF0H

C.3° <2° <1°

D.3° < 2° < 1°

Answer:

° Watch Video Solution

33. The ease of Nitration of the following three

hydrocarbones follows the order


https://dl.doubtnut.com/l/_34SaNE0GbF0H
https://dl.doubtnut.com/l/_l40dCttFgxPE

22

) (I

Al -I1IT~1
B.II > III > 1
C.IIIT > II > 1

D.I =111 > 11

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_l40dCttFgxPE

34. The correct order of decreasing acidity of

nitrophenols will be

A.m- Nitrophenol > p- Nitrophenol

> o0 — Nitrophenol

B. o-Nitrophenol > m-Nitrophenol > p-

Nitrophenol

C. p-Nitrophenol > m-Nitrophenol > o-

Nitrophenol


https://dl.doubtnut.com/l/_l40dCttFgxPE
https://dl.doubtnut.com/l/_SQkKzUfFTeTm

D. p-Nitrophenol > o- Nitrophenol > m-

Nitrophenol

Answer:

o Watch Video Solution

35. Among the alkenes which one produces

tertiary butyl alcohol on acid hydration?

A.CH, — CH, — CH = CH,

B.CH; — CH, — CH, — CH,


https://dl.doubtnut.com/l/_SQkKzUfFTeTm
https://dl.doubtnut.com/l/_zEyS8SBXNTHK

C. (C.Hg)zc — CHz

D.CH, — CH, — CH;

Answer:

° Watch Video Solution

36. Which of the following compounds has

maximum voltaility ?


https://dl.doubtnut.com/l/_zEyS8SBXNTHK
https://dl.doubtnut.com/l/_tHYpS6BEe4pN

Answer:



https://dl.doubtnut.com/l/_tHYpS6BEe4pN

| ' Watch Video Solution ]

37. Which of the following will show optical

isomerism ?
H
|
A.HO - C —-CO,H
|
H
H
|
B. H;C — |C’ — CO,H
OH
CH,
|
C. H;C — ’C' — CO,H
H
CH,

|
D. H,C — ? — CO,H
Cl


https://dl.doubtnut.com/l/_tHYpS6BEe4pN
https://dl.doubtnut.com/l/_bOHSSRTvEsn9

Answer:

o Watch Video Solution

38. The pH of an aqueous solution of

CH3;COONa of concentrated C(M) is given by

1 1
A. 75pka + ElogC

1 1 1
B. Epkw + —pKy + =logC

2 2
C - k = K 11 C

le—i—lK—l—ll C


https://dl.doubtnut.com/l/_bOHSSRTvEsn9
https://dl.doubtnut.com/l/_1kaYDbAwxMIB

Answer:

o Watch Video Solution

39. The standard reduction potential E° for
half reaction are Zn — Zn?t +2¢~ ;E°
=+0.76V Fe — Fe*" 4 2e~ ;E°=+041V The
EMF of the cell reaction is:

Fe?t + 7Zn — Zn®T + Fe

A. —0.35V

B. +0.35V


https://dl.doubtnut.com/l/_1kaYDbAwxMIB
https://dl.doubtnut.com/l/_yitTRAPQavvW

C.+1.17V

D. —1.17V

Answer:

o Watch Video Solution

40. If the equilibrium constants of the
following equilibriam
SO,y + %()2 — S03 and 2505 — 250, + O,
are K; and K5 Which shows the correct

relation between K; and K,


https://dl.doubtnut.com/l/_yitTRAPQavvW
https://dl.doubtnut.com/l/_KzKXX5tV3APl

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KzKXX5tV3APl

